5.5x13 <1

2
M5x8
&
\/;_J,
M5x8
ﬁ @]

o e s e b @B

tH-5,56x13

=1l

RITTAL

IT
7856.023

4x

8X

8x
2X

‘lﬁ\\\\\\\\\\\\\\\\\\\\\\\\m
‘l“\\\\\\\\\\\\\\\\\\ s

=
=
-

5,5x13

M4x12

M5x8
2,9x9,5

2X

g\

)
-/
o\

‘
=0
i,

Qo

50

Zchng.-Nr. / No. of dwg. : A3876702IT
Versandbeutel-Nr. / No. of accessory bag : 299274

Lieferanten-Nr. / No. of supplier :

B (650)

= /
s s = e —
iy Hy oy v

%BJ @ L

%m m@ { 0
%07 D@d Glj
\ WA/

o a6 i 6 O e 6 = 6 e B =




